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1. Answer the question based on following information. 
I. 'P × Q' means 'P is the brother of Q'. 
II. 'P + Q' means 'P is the father of Q’. 
III. 'P / Q’ means 'P is the sister of Q'. 
Which of the following represents 'P is the uncle of Q'? 
(a) P + D / Q  (b) P × D + Q  (c) P + D × Q  (d) P / D + Q 
 
2. Ram went to his office, which is 9 kms towards the South from his hostel. His roommate 
Meghal went to a clinic, which is 12 kms towards the West from the hostel. What is the 
shortest distance between the clinic and Ram's office? 
(a) 12 m  (b) 12 kms  (c) 15 kms  (d) 15 m 
 
3. In a certain language 'pic vic nic’ means 'winter is cold'; ‘to nic re’ means 'summer is hot'; 
're it pa' means 'nights are hot'. Which of the following is the code for 'summer'? 
(a) to   (b) nic   (c) pic   (d) vic 
 
4. Six years ago, the ratio of the ages of Kunal and Sagar was 6:5. Four years hence, the ratio 
of their ages will be 11:10. What is Sagar's age at present? 
(a) 15   (b) 16   (c) 17   (d) 18 
 
5. A wholesale tea dealer has 408 kilograms, 468 kilograms and 516 kilograms of three 
different qualities of tea. He wants it all to be packed into boxes of equal size without 

mixing. Find the capacity of the largest possible box. 

(a) 50   (b) 36   (c) 24   (d) 12 
 
6. A simple mechanical device has four gears A, B, C and D such that they mesh in the order 
A-B-C-D. The number of teeth in these gear is 10, 21, 12, 17 respectively. If we start the 
mechanism from rest, how many revolutions will the largest gear have to turn before one 
full cycle is completed and the gears are in the position from where they started? 
(a) 270   (b) 340   (c) 7140  (d) 285 
 
7. If the LCM of two numbers is 750 and their product is 18750. Find the HCF of the 
numbers. 
(a) 40   (b) 35   (c) 25   (d) 45 
 
8. An amount of 2430 is divided among A, B and C such that if their shares be reduced by 
Rs.5, Rs.10 and Rs.15 respectively, the remainders shall be in the ratio of 3:4:5. Then, B's 
share was: 
(a) 605   (b) 800   (c) 790   (d) 810 
 
 

https://indiaexamjunction.com/
https://indiaexamjunction.com/government-jobs
https://indiaexamjunction.com/government-jobs?blog_cat=Punjab%20Question%20Paper%20Bank
https://indiaexamjunction.com/online-quiz


 

 
                                                                                               

 
               Job Alerts | Previous Year Question Paper | Online MCQs 

 
9. From the time the front of a train enters a platform, it takes 25 seconds for the back of 
the train to leave the platform, while travelling at a constant speed of 54 km/h. At the same 
speed, it takes 14 seconds to pass a man running at 9 km/h in the same directions as the 
train. What is the length of the train and that of the platform in meters, respectively 
(a) 210 and 140 (b) 162.5 and 187.5 (c) 245 and 130 (d) 175 and 200 
 
10. A contract is to be completed in 56 days and 104 men were set to work, each working 8 
hours a day. After 30 days, 2/5 of the work is finished. How many additional men may be 
employed so that work may be completed on time each man now working 9 hours per day? 
(a) 46 men  (b) 48 men  (c) 52 men  (d) 56 men 
 
11. Which sport's competition is known as the "Korn Ferry Tour"? 
(a) Golf  (b) Baseball  (c) Tennis  (d) Chess 
 
12. The term "Boycott of British Goods" was used in which of the following movements? 
(a) Swadeshi Movement   (b) Quit India Movement 
(c) Non-Cooperative Movement  (d) Home Rule Movement 
 
13. Rani-ki-Vav (the Queen's Stepwell), which is in the UNESCO World Heritage List, is 
located in which state? 
(a) Gujarat  (b) Madhya Pradesh (c) Rajasthan  (d) Uttar Pradesh 
 
14. Which gas is most effective for ozone depletion? 
(a) CMC  (b) CFC   (c) CCF   (d) CDC 
 
15. In which year was "The National Commission for Women" set up? 
(a) 1992  (b) 1990  (c) 2015  (d) 2012 
 
16. Who was honoured for film and television achievements at the MTV Movie & TV Awards 
2022? 
(a) Jennifer Lopez (b) Tom Cruise  (c) Will Smith   (d) Angelina Jolie 
 
17. What is the repo rate after August, 2022 Monetary Policy Committee meeting? 
(a) 5.0 %  (b) 5.2 %  (c) 5.4 %  (d) 5.75 % 
 
18. Which state government has partnered with Linked In to boost employability skills 
of its students?  
(a) Punjab  (b) Haryana  (c) Kerala  (d) Tamil Nadu 
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19. Who has written the book "New Dimensions of India’s Foreign Policy"? 
(a) Raghuram Rajan    (b) Amartaya Sen 
(c) Atal Bihari Vajpayee   (d) Amit Chaudhari 
 
20. Which global organisation launched a new initiative called COVID-19 Technology Access 
Pool (C-Tap)? 
(a) World Health Organisation  (b) World Trade Organisation 
(c) UNICEF     (d) World bank 
 

21. ‘ਅਹਿਕਰੁ ਕਰੇ ਸੁ ਅਹਿਕਰੁ ਪਾਏ’ ਅਖਾਣ ਦਾ ਅਰਥ ਕੀ ਿੈ? 

(a) ਗਰੀਬ ਨਾਲ ਸਦਾ ਜੱਗੋਂ ਬਾਿਰੀ   (b) ਅਮੀਰ ਦੀ ਸਦਾ ਧੱਕਾ-ਜ਼ੋਰੀ 
(c) ਅਹਿਮਾਨੀ ਦੀ ਸਦਾ ਪੱੁਗਣੀ   (d) ਕਰਨੀ ਅਨੁਸਾਰ ਫਲ 

 

22. ਹਜਸ ਕੁੜੀ ਹਵੱਚ ਮੁੁੰ ਹਿਆਂ ਵਾਲੀਆਂ ਆਦਤਾਂ ਿੋਣ ਉਸ ਨ ੁੰ  ਕੀ ਆਖਦੇ ਿਨ? 

(a) ਜਨਾਨੜਾ  (b) ਮੁੁੰ ਿ    (c) ਮਾਿੀ-ਮੁੁੰ ਿਾ  (d) ਖੁਸਰਾ 
 

23. Time Barred ਦਾ ਅਰਥ ਿੈ: 
(a) ਮੁਅੱਤਲੀ ਸਮਾਂ (b) ਸੀਮਤ ਸਮਾਂ  (c) ਹਮਆਦ ਪੱੁਗੀ  (d) ਹਮਤੀ ਬੱਧ 

 

24. ਿੇਠ ਹਲਹਖਆਂ ਹਵੱਚੋਂ ਸ਼ੱੁਧ ਸ਼ਬਦ ਚੁਣੋ। 
(a) ਬੌਿਤ  (b) ਸੋਣਾ   (c) ਗ਼ਜ਼ਲ  (d) ਦੋੜ 

 

25. ‘ਮੈਂ ਆਪ ਉਸ ਨ ੁੰ  ਚਾਿ ਪਾਰਟੀ ਤੇ ਛੱਿਣ ਹਗਆ’ ਵਾਕ ਹਵਚ ‘ਆਪ’ ਦਾ ਪਰਕਾਰਜ ਿੈ। 
(a) ਹਨਿੱਜ ਵਾਚਕ ਪੜਨਾਂਵ    (b) ਪੁਰਖ ਵਾਚਕ ਪੜਨਾਂਵ 

(c) ਸਬੁੰਧਵਾਚੀ ਪੜਨਾਂਵ    (d) ਹਨਸ਼ਚੇ ਵਾਚਕ ਪੜਨਾਂਵ 

 
26. Change into indirect speech. She said, "Could you bring my book tonight?" 
(a) She asked me could I bring her book that night. 
(b) She asked me to bring her book that night. 
(c) She had asked me to bring her book that night. 
(d) She asked me to bring her book tonight. 
 
27. Playing the piano may seem very difficult at first, but it gets easier with practice. Replace 
the italicized word with the correct substitute: 
(a) manageable (b) sparse  (c) arduous  (d) ominous 
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28. Choose the correct phrasal or prepositional verb for ‘to enter by force': 
(a) break into  (b) break away (c) break down (d) break out 
 
29. Choose one word substitute for an action that is likely to make people very angry. 
(a) inflationary  (b) inflammable (c) Commensurable (d) Inflammatory 
 
30. Many older people feel a slight pang of ... as they think back on their schools days. 
(a) anger  (b) tears  (c) Pride  (d) nostalgia 
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ANSWER KEYS 

 
 

Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans 

1. B 7. C 13. A 19. C 25. A 

2. C 8. D 14. B 20. A 26. B 

3. A 9. D 15. A 21. D 27. C 

4. B 10. D 16. A 22. C 28. A 

5. D 11. A 17. C 23. C 29. D 

6. * 12. A 18. C 24. C 30. D 
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